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1. Michael buys

one tie costing £3.99

one pack of socks costing £2.89

three shirts costing £7.75 each

one jacket

Michael pays with four £20 notes.

He gets 87 pence change.

Work out the cost of the jacket.

£ . . . . . . . . . . . . .
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2. Riya buys

two cups of tea costing £1.39 each

one biscuit costing 65 pence

one blueberry muffin

She pays with one 10 £note.

Rita gets £3.82 change.

Work out the cost of one blueberry muffin.

£ . . . . . . . . . . . . .
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3. Jan buys

two Quesadilla costing £3.95 each

one Vegetable Burrito costing £7.95

one Chicken Salsita

Jan pays with three £10 notes.

She gets £3.20 change.

Work out the cost of one Chicken Salsita.

£ . . . . . . . . . . . . .
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Answers

1. £49

2. £2.75

3. £10.95
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